
For further information contact KAON on 07 3180 1470 or info@kaon.com.au

F I T T I N G  I N S T R U C T I O N S  F O R

Light Cargo Barrier
S K U C O M P A T I B I L I T Y

KS0381 Toyota Kluger Gen 2, 2008-2013 

Included contents
Q T Y C O M P O N E N T Q T Y C O M P O N E N T

1 Light Cargo Barrier 2 M6 x 16 Hex Head Bolts

2 Headrest Brackets 2 M6 DIN Washers

2 Barrier Brackets (LHS & RHS) 2 M6 x 30 Threaded Knobs

2 Plastic Spacers 2 M10 x 20 Threaded Knobs

30 minutes / Half a beerTime



2

Bolt Torque
D I A M E T E R  ( mm) 5mm 6mm 8mm 10mm 12mm

N E W T O N - M E T R E S  ( Nm) 5 Nm 9 Nm 22 Nm 44 Nm 77 Nm

Let’s get to work. 

Preparation
1.	 Locate the plastic trim cap above 

the rear windows in the back of the 
vehicle. 

2.	 Gently pry the cap open, and 
remove the screw to reveal the 
captive hole underneath. Remove 
the plastic trim surround and cap. 

3.	 Remove the headrests from the 
back seat. Thread the headrest pins 
through the Headrest Brackets, 
taking care to ensure the face with 
the captive nut is at the back and 
pointing upwards. 

4.	 Install the Barrier Bracket to the 
side of the Cargo Barrier using 
the M6 Hex Bolts, matching the 
orientation pictured.  

2

3

4



3

Installation
1.	 Thread the M6x30 Threaded Knob 

through the Barrier Bracket, the 
Plastic Spacer and then into the 
captive hole we revealed earlier. 
There are four points of adjustment, 
depending on the upright position of 
your rear seats. 

2.	 Next, use M10 x 20 Threaded Knob 
to attach the Cargo Barrier to the 
Headrest Brackers. 

3.	 That’s it, you’re done! To remove 
it, all you have to do is undo the 
four Threaded Knobs. The brackets 
can stay in place when the Cargo 
Barrier is out of use. 

1

1

2



4

Disclaimer: The products sold by KAON should not be modified, and are for use only on the vehicles specifically stated. KAON will not be 
liable for any damages arising out of the use or misuse of it’s products. It is the customers responsibility to ensure the products are safely 
and properly used and installed. KAON consistently seeks to improve it’s products and reserves the right to make changes to any product. 

Local Knowledge & Assistance 
We know half the fun of building your dream 4x4 is getting your hands 
dirty. But we also know that sometimes, things don’t go to plan. If in the 
pursuit to build the ultimate setup you find yourself off-track, we’re here 
to help you get unstuck. 

For further information call 07 3180 1470 or email info@kaon.com.au


